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. (1) English reflexives. Lot's use these words: | picture N~ PP[of] > /
like %ﬁ‘ﬁp “

Notice that the noun picture takes of PP complements.
a. Using the lexic

: . al items above, draw a complete tree for the following sentence. Show movements
with strikeout and arrows. as usual. This sentence is grammatical.

Which pictures of himself does John like?
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. Does principle (A) allow DP himself to have DP John as its antecedent? (very briefly explain)
(Remember himself indicates the position where this reflexive was before it moved.)
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\_c. Does principle (A) allow DP himself to have DP John as its antecedent? (very briefly explain)

(Here, we mean the DP himself in the position where it is pronounced.)
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d. Does principle (A) need to be modified when it applies to things that move? If not, explain why not,~—— Fd
( . If so, propose a simple modification. (Just considering this one example.) » ,{t_ ek z:!t‘w(
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2) D i ; :
(2) eterminers. Let’s make up a new determiner glorf, adding it to these lexical items:

\ / word category arguments
glorf D NP
dangerous A
cat N
pres T VP
chase v DP DP
bird N
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Consider the following sentence: . Mt gt e W dWU\KL)
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a. Adjegtives. Is dangerous, as used in this sentence, intersective? (explain why or why no gl (lDJ\ ersS
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b. Semantics: Let’s define the new determiner gldrf this way: o set

[glorf NP T°] means that [[NP]| > 0 and [NP] C [T'].

Say in English (as naturally as possible, without using the word glorf) what sentence W means:
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c. Venn diagram. Draw a Venn diagram of a situation where the relation between [dangerous cats] and
[chase birds] makes sentence 2 true.
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e. Negz)itivity. Is glorf decreasing? (Explain clearly why or why not. Refer to a Venn diagram if it will
help.
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(3) Zapotec DPs. In Zapotec, an indigenous language spoken in Southern Mexico, the restrictions on what
DPs refer to are different from English. These examples were studied by UCLA linguist Felicia Lee (2002)

1. R-yu'laga’z  Gye'eihlly Gye'eihlly .
tns-likes Mike Mike
This means ‘Mike; likes Mike;’, or as we would say, ‘Mike; likes himself;’

2. A w-nalada’z sbxuuhakz g-uhcnée Lia Paamm b)cﬂuhahz
Already tns-remember  priest helped Ms. Pam priest

This means ‘The priest, already remembered that Ms. Pam helped the priest;’, T
or as we say, ‘The priest; already remembered that Ms. Pam helped him,’

a. We see in sentence 1 that tense is a prefix -, not a suffix like English -ed or -s. More interestingly, in
Zapotec, subjects come after the verb. Some linguists assume that this happens because, roughly, in
Zapotec main verbs are moved by V-to-T and T-to-C. With these assumptions, sentence 1 is similar to

the English sentence ‘Is Mike Mike?’ or as we would usually say, ‘Is Mike himself?’, except

e 1 is not a question,

e in 1 it is not an auxiliary verb be but the main verb that has moved, and
® in 1 the second name Gye'eihlly can have the first Gye’eihlly as its antecedent.

With these ideas, draw the complete syntactic tree for the Zapotec sentence 1 (showing any movements
with strikeouts and arrows). (Hint: If you think you might get confused, draw the tree for ‘Is Mike
Mike?” and then write the Zapotec words underneath the corresponding English words.)
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b. I the'tree you just drew for a, when the ond occurrence of the name Gye ‘ethlly (‘Mike’) has the
first occurrence as its antecedent, does this violate any of the binding principles (A), (B) or (C)? (See
last page.) Briefly explain, and propose a revision of (A), (B), and (C) for Zapotec that
would allow sentences 1 and 2. (If Gye’eihily is not acting like an English name, is it acting like
an English reflexive, or an English pronoun?) Don’t worry about structures other than what we have

/
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